

$a_n = \frac{(-4)^n}{\sqrt[3]{n}}$ irg $\frac{1}{R} = \lim_{n \rightarrow \infty} \frac{\sqrt[3]{4^{n+1}}}{\sqrt[3]{4^n}} = \frac{4}{4} = 1 \Rightarrow R = \frac{1}{4} \quad x_0 = 0$

Vergleich: $x = \frac{1}{4} \quad \sum_{n=1}^{\infty} \frac{(-4)^n}{\sqrt[3]{n}} \frac{1}{4^n} = \sum_{n=1}^{\infty} \frac{(-1)^n}{\sqrt[3]{n}}$ $Howr, \text{ in Leibniz, de nem } abr \text{ Howr, in } \frac{1}{3} < 1$
 $x = -\frac{1}{4} \quad \sum_{n=1}^{\infty} \frac{(-4)^n}{\sqrt[3]{n}} \left(\frac{1}{4}\right)^n = \sum_{n=1}^{\infty} \frac{1}{\sqrt[3]{n}}$ div, irg

$KT: (-\frac{1}{4}, \frac{1}{4}]$, $abr.$ $Howr: (-\frac{1}{4}, \frac{1}{4})$.

② $a) f(x) = x^3 e^{-x^2} \quad T(x) = x^3 \sum_{l=0}^{\infty} \frac{(-x^2)^l}{l!} = \sum_{l=0}^{\infty} \frac{(-1)^l}{l!} x^{2l+3} \quad KT = \mathbb{R}$

b, $\int_0^{0.1} f(x) dx \approx \int_0^{0.1} x^3 - x^5 dx = \left[\frac{x^4}{4} - \frac{x^6}{6} \right]_0^{0.1} = \frac{1}{4} 10^{-4} - \frac{1}{6} 10^{-6}$

c, $\int_0^{0.1} f(x) dx = \int_0^{0.1} T(x) dx = \int_0^{0.1} \sum_{l=0}^{\infty} \frac{(-1)^l}{l!} x^{2l+3} dx = \sum_{l=0}^{\infty} \frac{(-1)^l}{l!} \int_0^{0.1} x^{2l+3} dx =$

$\sum_{l=0}^{\infty} \frac{(-1)^l}{l!} \left[\frac{x^{2l+4}}{2l+4} \right]_0^{0.1} = \sum_{l=0}^{\infty} \frac{(-1)^l}{l! (2l+4)} \cdot \frac{1}{10^{2l+4}}$ an $leibniz$ $tipus$ sor irg

$|Hibn| \leq |a_{n+1}| = \frac{1}{2} \frac{1}{4^{n+1}} \cdot \frac{1}{10^8}$

③ $a) f(x) = (8-x^2)^{-\frac{1}{3}} = \frac{1}{2} (1 - \frac{x^2}{8})^{-\frac{1}{3}} = \frac{1}{2} \sum_{l=0}^{\infty} \binom{-\frac{1}{3}}{l} \left(\frac{-x^2}{8}\right)^l = \sum_{l=0}^{\infty} \frac{1}{2} \cdot \binom{-\frac{1}{3}}{l} \left(\frac{-1}{8}\right)^l \cdot x^{2l}$

b, $|\frac{x^2}{8}| < 1 \Rightarrow |x| < \sqrt{8} \quad R = \sqrt{8}$
 c, $f^{(6)}(0) = 6! \cdot a_6 = 6! \cdot \frac{1}{2} \binom{-\frac{1}{3}}{3} \left(\frac{-1}{8}\right)^3 = 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 \cdot 1 \cdot \frac{1}{2} \cdot \frac{(-\frac{1}{3})(-\frac{4}{3})(-\frac{7}{3})}{3 \cdot 2 \cdot 1} \cdot \left(-\frac{1}{8 \cdot 8 \cdot 8}\right)$

④ $a) \lim_{(x,y) \rightarrow (0,0)} \frac{2x^2 y}{x^2 + 2y^2} = \lim_{r \rightarrow \infty} \frac{2r^2 \cos^2 \varphi \cdot r \sin \varphi}{r^2 \cos^2 \varphi + 2r^2 \sin^2 \varphi} = \lim_{r \rightarrow \infty} 2r \frac{\cos^2 \varphi \sin \varphi}{1 + \sin^2 \varphi} = 0$

b, $\lim_{(x,y) \rightarrow (0,0)} \frac{3(x+1)y}{x^2 + y^2} = \text{Ha J-i-l} = \lim_{x \rightarrow 0} \frac{3(x+1)mx}{m^2 x^2 + x^2} = \lim_{x \rightarrow 0} \frac{3(x+1) \cdot m}{m^2 x + x} = \frac{3 \cdot 1 \cdot m}{m^2 \cdot 0 + 0} \neq$

⑤ $f(x,y) = \begin{cases} \frac{(y+1)x^2}{x^2 + y^2} & (x,y) \neq (0,0) \\ 0 & (x,y) = (0,0) \end{cases} \quad P(1,2) \quad e = \begin{bmatrix} -2 \\ 3 \end{bmatrix} \frac{1}{\sqrt{13}}$

a, $f'_x = \frac{2x(y+1)(x^2+y^2) - (y+1)x^2 \cdot 2x}{(x^2+y^2)^2} \quad h(x,y) \neq (0,0) \quad \left| \quad f'_x(0,0) = \lim_{h \rightarrow 0} \frac{1 \cdot (0+h)^2 - 0}{h^2 + 0} = \frac{h}{h} = 1 \neq \right.$
 $f'_y = \frac{x^2(x^2+y^2) - x^2(y+1)2y}{(x^2+y^2)^2} \quad h(x,y) \neq (0,0) \quad \left| \quad f'_y(0,0) = \lim_{h \rightarrow 0} \frac{(h+1) \cdot 0 - 0}{0 + h^2} = 0 \right.$

b, $nem, \text{ in } f'_x \text{ az szks. felt}$

c, $\frac{df}{de} \Big|_P = \langle \text{grad } f(1,2) | e \rangle = \left\langle \left(\frac{30-6}{25}, \frac{5-12}{25} \right), \left(\frac{-2}{\sqrt{13}}, \frac{3}{\sqrt{13}} \right) \right\rangle = \frac{-48}{25\sqrt{13}} - \frac{21}{25\sqrt{13}}$